Hanging Piece Puzzles
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1. White to play 2. Black to play 3. Black to play
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4. Black to play 5. Black to play 6. Black to play
X )| o X g
4 O A A £ 4 ELP4 A @) A
A D A W A & AW
i1 A N AALA
AlL A A a
A AW AL
A N A A g L W
& i E & K &
7. White to play 8. White to play 9. Black to play
Answers:

1. Nxc7+, Kd7, hxg3, Kxc7, g4 2.Nxf3+, Kg2, Qxf5, Qxf5, Nh4+, Kh3, Nxf5 3. Nxd2, fxeb, Bxe5

4.Qxg3, hxg4, Qxd3

7.Nxg8, Nc2, Re7

5.Qxc3, Qch+, Qxch

8.Qxd8+, Kn7, Qd3+, f5, Qf3

6. Kxh7, Ng5+, Kg6, Qxgs, f5, Qhk, Rh8,

Qxh8, Rxh8

9.Nxg7+, Ke3, Rxal



